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M.C.Q. 20
(1) Ol 2 2l uinHl sau 9.
(@) Gelus uldulR 2y (b)  Yuiell MY

(©) olglas [acigls2el vy (d)  dsEUrl 2HAA
The fifth level of Gagne’s hierarchy of learningis __
(@) S-Rlearning

(b) Chain learning

(c) Multiple discrimination learning

(d) Concept learning

(2)  GElUAlAL AHS HIS 2AcARAS AL UAARIAL &Hdl U 52 d ¢9.
(@) Gelus uldulR Y- (b) Rigid 2y
(c) telysl suq (d) AseuAl vHUA

The learner acquires a capability of making a common response to a class of

stimuli this is called

(a) S-Rlearning (b) Rule learning
(c) Meaningful learning (d) Concept learning
(3) VAU vied g ?
(@) G wwisl Hoaal (b) G2 ofg i s2dl
(c) vl s siAd 529 (d)  adMi uRad aRel 529

What is learning ?
(a) Achieve high scores (b) Possess high intelligence
(¢) Acquire adequate knowledge (d) Attain behavioural change
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@) [l Hd HAa [QsiuAl doewssiAl el s3Hi ausal.

(A) Hd MRS Basis (B) yd Buics
(C) 24d Buics (D) ddert +yaal iRl
(a D,B,C,A (b) D,B,A,C
(c) D,A,B,C (d B,ACD

Which of the following indicates the correct sequence of stages of human

development according to piaget ?

(A) Concrete mental operation (B) Pre-operation

(C) Formal operation (D) Sensory motor stage
(a D,B,C,A (b) D,B,A,C
(c) D,A,B,C (d B,ACD

(5) “Ygas dl Galus © 5 -l P2Ud 5 -uegl ulduR yAlad-dl Aqeia
QaIFL U 9.7 i Aol el Asclul 413 9 ?

(@)  wWwllu 2x[eRiuA (b)  UACL Vi HA g1 AeHUA
(c) 518 wi[™MAHA (d)  2dRYP YA

“A reinforcer is the stimulus the presentation or removal of which increases the

probability of a response being repeated. “This is true in case of

(a) Classical conditioning (b)  Trial and error learning
(c) Operant conditioning (d) Insightful learning
(6) AL HI3AAL 2adls gLl ad-l alvl, [zal oed ¥ 6ly 53 dA 58
9.
(@) WM (b) AAdlsA
(c) 528U (d) Addls:m

Student learn new behaviour, change the direction or stop behaviour with

observation of model is
(a) model (b) observation

(c) 1imitation (d) encoding
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(7) % HdlA dd @y a8 3ylaui adl Avial Hidldl €L, dl dd 9 529, A58 ?
(a) YARlad (b) Heis
(c) HdlReL (d) 3uldR
What will you do with information which you want to maintain in S.T.M. ?
(a) Rehearsal (b) Evaluation
(c) Retention (d) Transformation
8) [y 3q glelbig ulddl d-ldsuMs gdl ?
(@)  si-ileeuel (b) adAgl
() uIulael (d) ALl
Which type of view point keep Piaget ?
(a) Cognitivist (b) Behaviourist
(c) Traditionalist (d) Constructivist
(9)  w3dl gld slel 20wl 9 ?
(a) olgRl (b)  Ryeld
) [Rs2 d ol
Who give the shaping theory ?
(a) Bandura (b) Ausubel
(c) Skinner (d) Gagne

(10) 2R AL Adl 281 g Uldldl sit-llcs AAUAL 2ea Hilsdl w18l 218l
Y AU SUL USIR, AU ALY 9 ?

(a) WY AU (b)  utelysl sy

(€)  oUviRY, U (d)  uselelle su-
Learning matter with pre-information line in Cognitive structure is
(a) Discovery learning (b) Meaningful learning

(¢) Rote learning (d) Receptive learning
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(11) UG AU ARAISBRAL S2Al USIRL ULAL 9 ?
() -l (b) o
(c) AR (d) uiA
How many divisions have made by Ausubel of advanced organizer ?
(a) Three (b) Two
(c) Four (d) Five

(12) eled talt 3yfaul “ledld are 59 d ad 9 ?
(a) Adedx Adw Sy dl (b)  ucuallswl A3 2y eld dl
(c) didlswl 6y eld dl (d)  YrRlad 2y eld dl
How does long term memory increase into information acception ?
(a) when sensitive system is active
(b)  when perception is done well
(c) when symbolism may be done
(d) when revision had been done

(13) HUfdl vasA FaBd sl Yoo sedl ubuil gld o ?
(@) AR (b) =8l
(c) diA d o

How many process to control for stream ?

(a) Four (b) Three
(c) Five (d Two
(14) 515 wieisA @5 1 0 2dyel YA ?

(a) olgRl (b) Ol

(© ydd @ [

Operant conditioning : Skinner : : Meaningful learning: __ ?
(a) Bandura (b) Gagne

(c) Aasubel (d) Piaget
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(15) “gMa glRL st 5 adul Ae Ad sl uRad” 2 Rl 59
ool 8l vl €9 2

(a) YA (b) ulRusa-
(c) edRiann (d) yzélszel

“A relatively permanent change in knowledge or behaviour through experience”

best defines

(a) learning (b) maturation
(c) conditioning (d) reinforcement

(16) 2l glellHi Aseurti AU 4l Al A w9l &l
(@) AUdd YA (b)  GElus-uldAlR MU
(c) [Rax w1y (d) [asigls0l x4y

In Gagne’s hierarchy “Concept learning” will not include :
(a) Sign learning (b) S-R learning
(c) Rule learning (d) Discrimination learning

(17) DAzl 34l Al $5l AHARU0L SiHL eld 9 2

(@) (Bl yla (b) Aldels ¥la
(c) @y ala »yld (d) <led vt 3yld
Which of the following has the shortest memory span ?
(a) Working memory (b)  Sensory memory
(c) S.T.M. (d L.T.M.

(18) [a™ul, ol @awL > Al olke1w?l ©.
(a) uculdsi (b)  YARlde
() y:law (d) “Rsu

The more crucial sign of forgetting is the absence of
(a) recognition (b) recall

(¢c) relearning (d) retention
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(19) AL Ad 351211 @aRlL oRtdl M2 59 ool %33 ot ¢ ?
(a) UM dd- (b) slaed
(c) Yeuis (d  welds Rala
Which matter is necessary to know character of changing behaviour of student ?
(a) Competent performance (b) Skill
(c) Evaluation (d) Initial stage
(20) AARLAL B3R Hle UL HMHAHAL GUUIDL Ay, AIRL €9 ?
() wWoes ile1ay (b) +alas v™an
(c) M Hdd [HaH (d) A3d wlamt e
Which approach is better than any other approach for shaping attitude ?
(a) Verbal approach (b) Motor approach
(c) Human model approach (d) Code imagery approach

([Aeu2L — II/ Section — 11

Lo d s 12
Any one :
(1) 3[as 2uyeiadl eyl steau-dl usil oeudl, ddl ¥3Ruld @vil.
Write the type of David Ausubel’s meaningful learning and write it’s need also.
2) AL 2tua Al 204, 2Uidls wRRaliel 214 cual wREAlaul aslql.
(1) ualas Asdlsel
2) [ viquq

Describe the meaning, internal condition and external conditions of the

following learning outcomes.
(1) Motor Chaining

(2) Rule learning
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2. o d e 12
Any two
(1) MUl desrend AlwMs e Axenal.
Describe the stage model of information processing.
(2) A HAUAsUAAL gesl 2 Rgidl 2l
Discuss the components and principles of instructional psychology.
(3)  olUls [AsUAL dsssiil aelal.

Describe the cognitive development stage.

3. o doAvL: 12
Any three :
(1) Bzl 5128 2[R Rgid Axenal.
Explain the theory of Skinner’s operant conditioning.
2)  [ReiL Rgidl auenal.
Explain the theory of forgetting.
(3) Wt AHAL danl delds SQBR Ugld Auandl.
Explain the SQBR method helping in memory of text book material.
(4) Gl ANRUHS HHUAAL S[edLl Qvil.

Write the educational implications of Bruner’s discovery learning.

4. oL % Uil 14
Answer all :
(1) sidalle 3l 2ed g ?
What is working memory ?
2) el Asaml Adl WARS 2URL 22d g ?
What is Neuro-Physical bases of information processing ?
(3)  Gelus W el o sua uRRalail wwudl.

State two external conditions of S-R learning.
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4)  wRAR AHAAM uAs ved g ?
What is variable interval schedule ?
(5) Gl AAALSUMS 2AAAL ol UaBLs slealal weual.
State any two educational implications of Bandura’s observational learning.
6) Ol vidRs 24 cusl wREAlAAL x8 wruAl.
State the meaning of Gagne’s learning internal and external conditions.
(7) UL 6L 2-BeLeRR1L Rl

Give two anti-examples of learning.
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